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WALT: Multiply 2

Vocabulary check

multiply
multiplicand
multiplier
product
place value

2

15 multiplicand
X 2  multiplier
30 product
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I do
24 x 32 =
(24 x30) + (24 x 2) =
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67

X 23

201

67
x 23

201
1340

2-digit Multiplication

1. Multiply
by the
one's place

3. Multiply
by the
ten’s place

67
x 23
201 v
0 ~ one's place
67
x 23
201 4. Add

the

1340 numbers
1541

4 8
32




We do

2-digit Multiplication

67 1 Multiply 67
by the
x 23 oneystplace X 23
201 201 2. Put a zero

» tohold the
0 one's place

67

67 3. Multiply
by the X 23
X 23 ten'ysrplace W 4. Add X 5 6
ot EVG 32
1340 —_
1541

35 x 23

45 x 31



Hinge

Which of these is correct for 45 x 23 =

1

A

45
X 23

>

1

+

45
X 23

135
90

135
900

1035
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1
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800
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D I'm not sure



Try it

5.
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/.
8.

1. 27 x 13
2.35x14 =
3.

4. 54 x 39 =

36 x 22

41 x 25 =
56 x 23 =
43 x 53
23 x 84

2-digit Multiplication

67 1. Multiply
by the

X 23 one’s place

201

67 3. Multiply
X 23 by the

ten’s place
201
1340

67
x 23
201 2rua

to hldth

O 4
one'’s place

67
X 23
201 4. Add

the

1340 numbers

1541



Use |t Calculate the missing number in these calculations.
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Prove it
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When you multiply a 2 digit number by a 2

digit number the answer will be a 5 digit
number - always / sometimes or never?

Explain your answer.






